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Abstract. Estimation of the mean value in the model of two-component mixture is considered. Each
object has some some characteristic of interest which can be zero (fail) or one (success). Probabilities
for this values are constant for objects from the same component. Objects are distributed over several
groups. We know total quantities of objects of first and second components and their characteristics.
Estimates of success probabilities for both components are constructed. Method of maximum likelihood
is used. Consistency and asymptotic normality of estimates is proved.
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��
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���
 '�	�	 ���"	�� � 
	�
�� ��
��� �� �
����
�
�	�'
����'��
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5�	 ������! �	���������	( ��
� ������ � �
� 6	 ��	��
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������ 	 7���� ��� ����
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����" �����
���" �	����'�� ������  
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���� 	'���� ������ �	��� �	�� �	�'
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*
"�� �� ���� ����������� � K ���� 	 7����� 	 ����
� N1, . . . , NK � :�� 	 7����
�	��	���
�� �� ��	
� �����
� ���� 6	 � i�� ����� ���"	������ Ni1 	 7����� �
��	�	
����� �� Ni2 	 7����� ����	�	 ������ ;������� ��������� 	 7����� � i�� ����� Ni1 +
Ni2  ��

	 �	������� Ni� .��� (Ni1, Ni2) � �
���
���
� 	����	�	 �	��	���
��
�
�
��	��
� � �	��	���	


G(n1, n2) = P (Ni1 = n1, Ni2 = n2) , n1, n2 ∈ N0.

;������	� ����� 
�!�� �	������ �	�
��� �	 �	 G(0, 0) = 0� 1��	��  ��

	 ����
������� ��������� ����� 6	 
������ 	 7���� 	 	" ������ 	��	����	� 1	 �	 ����!��
�
������ n1, n2 > 0 ����� 6	 G(n1, n2) > 0�

*
"�� Cij # �	

� ������ �	 ��	�	 ���
���� j�� 	 7��� � i���� ������ :	�� �

��	��
����!���� ��� 	 ��
�
���� .�� 8���	����" Ni1 �� Ni2 �
��	� (Ci1, . . . , CiNi) �
����
� 6	 ��� �	�	 �	�����
� ����
��� � ����	�
	�����
��
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��� "�����
������� X � 6	 
	�
 ����
���
����
��� ���� ��
������ � 	 	����'� �����"�� .	�����
	 "�����
������� 	 7����� �
i�� ����� Xi1, . . . , XiNi � :	�� � ������	��
� �
������
� � �	��	����
�� 6	 ���
����
���
 ��� ������ �	 ��	�	 ���
���� 	 7���<

Pq (Xi = 1 | Ci = m) = qm ∈ [0, 1], i = 1, . . . , N, m = 1, 2,

�
 qm # �
	�������� ����"� ��� 	 7���� � i��	�	 ������ .	�����
	 q = (q1, q2)�
;����� �	����� � 	'��'� �
���	
	�	 ����

��� q �� ����
� {Ni1, Ni2, Xij , i =

1, . . . , K, j = 1, . . . , Ni}�

=� 
����
����� ����
������ ������	��

>	�����

	 i��� ������ .	�����
	 ��
� "�����
������ 	 7�����

Xi =
Ni∑
j=1

Xij .



��� �� ���	
��

��������� 	� 
����
���� Si = (Xi, Ni1, Ni2) 
 ��
������� ��� ���������� �����
����� q �� 
��
����������� � i���� ������ ��� ����� ��
��� ����
��� 	� ��������
��

���� {Xij = xj , j = 1, . . . , Ni} �������� ��!� ��� 
���
∑Ni

j=1 xi� ��� ����� ��������

��� ��"��� ����#�� x′j , x
′′
j ∈ {0, 1}� j = 1, . . . , Ni � ���������� 
�����$

Ni∑
j=1

x′j =
Ni∑
j=1

x′′j .

%
������ ������
�� ����� �� ������� � �"�& ��"���& 
����������� �� �
��
 ����
����
������� σ� 	� x′′j = x′σ(j)� j = 1, . . . , Ni� '��� ���������
� ��
����� �����
��$

Pq

(
Xij = x′j , j = 1, . . . , Ni

)
=

∑
cj∈{1,2}

Pq

(
Xij = x′j , Cij = cj , j = 1, . . . , Ni

)

=
∑

cj∈{1,2}
Pq

(
Xij = x′σ(j), Cij = cσ(j), j = 1, . . . , Ni

)

= Pq

(
Xij = x′′j , j = 1, . . . , Ni

)
,

�� �� ������
���� �������������
�� �
�& ����
����& ���#��� ������� (Ci1, . . . , CiNi)�
(�&�� ���#���� ���������� ��������� �������
 t = (t1, t2)� � s = (x, n1, n2)� )���

���� ��
����� �����#����$

f(s, t) = f(x, n1, n2, t) = Pt (Xi = x, Ni1 = n1, Ni2 = n2) ,

g(s, t) = g(x, n1, n2, t) = Pt (Xi = x | Ni1 = n1, Ni2 = n2) .

�����#��!� n = n1 + n2� �"#�
���� �� ��������
��$

g(s, t) =
x∑

k=0

Pt

⎛
⎝ n∑

j=1

Xij 1{Cij=1} = k

⎞
⎠Pt

⎛
⎝ n∑

j=1

Xij 1{Cij=2} = x− k

⎞
⎠

=
x∑

k=0

Ck
n1

tk1(1− t1)n1−kCx−k
n2

tx−k
2 (1− t2)n2−x+k 1{x−n2≤k≤n1} .

'����

f(s, t) = Pt (X = x | N1 = n1, N2 = n2)G(n1, n2) = g(s, t)G(n1, n2).

*� ������ ����	��
���
 ������������

(�&�� S = (S1, . . . , SK)� '��� ������+��#�� +������ ���������
�� �������������

L(S, t) =
K∑

i=1

ln f(Si, t) =
K∑

i=1

l(Si, t), ,-.

�� l(Si, t) = ln f(Si, t)�
%���� ������� ������ ���
������� ���������
�� "��� ���#���� ��������� t� 	�

���
�����
 ����� ,-.$
q̂ = argmax

t∈[0,1]2
L(S, t).

/� ����	����������

(�&�� q 0 
������
 ���#���� ���������� ���������� ��� ��
�������� �
��������
#�� ��������� ������ ���
������� ���������
�� �� ��
�� ���������� ��� ���
�����
�����& �������$

-� 1������ ���
�� 
���������� � �
�& �����& N11 = N12 ����
2� 3 ����� � ������� ��������� ���
�� Pq (N11 �= N12) > 0�

) ���!��� ������� ����#� ����
��
 "��� ������+��������� ���� +������ �����
�����
�� 
��
 
������#���$

L(S, (t1, t2)) = L(S, (t2, t1)).



���������� 	 
���
� �	
��� ���

����� ���	
���� 
���� 	�������� ���� � �������� �� ���������	��� ����� ���
	����������� q1 < q2� � ����
� 	������ 
����
�
 ���� �! 	���"������� #���
� ��$
���� ����� ��� t ∈ [0, 1]2� ��� ���� t1 ≤ t2%

q̂∗ = argmax
0≤t1≤t2≤1

L(S, t).

& ���"�
� � 	������ ������� ���	
���� ���' '����
� ������'�(�� ��������

������� �� ����� ���	
� 
�
� ����� ��������� ����������� ���������	

EqN1 < ∞.

���� N11 = N12 ����� �� ������ ������������ ����
������� q̂∗  ����
� ���������!

����� ���� Pq (N11 �= N12) > 0� �� ������ �����
 ������������ ����
������� q̂  

����
� ��������������

)�� ��	������  �'! �����
� 
� #���
� ���"������ 	������( *��(#���+,��#����

�� ���������
� f(s, t) �� f(s, q)%

ρ(t) =
∑

s

f(s, q) ln
f(s, q)
f(s, t)

= Eql(S1, q)− Eql(S1, t)

-�������'
��( ��������
 �	��������
�

�	��
����
 � ./0� 1����
2 03�456� ����� �����
����	 
����

(1) "����������� ���#��� Θ ����������

(2) $
����	 ρ(t) ���	
� ���
� �����
�
 �  ����� ����� t = q�
(3) $
����	 f(s, t)  ��%������������� &� t� �� ��	 ���� t ∈ Θ �����
 ���	∑

s

ln
fΘ(s)
f(s, q)

f(s, q) < ∞, fΘ(s) = sup
t∈Θ

f(s, t).

'��� ������ ������������ ����
������� q̂ ����
� �������������

����� ��� ��	������ ��������������� 
� 
�'
� ��������� ��	������ ���� �! ρ
�� 
���
�
� 7��  (�"� ��	���
� �������� ��
��

���� � ./0� ,�
� 03�056� ����� f �� g ( ��� ��������� ����������� �������� ����

μ� '��� ∫
f(x) ln f(x)μ(dx) ≥

∫
f(x) ln g(x)μ(dx),

	��� ������ �� ����
���� ���������� )��� �������� ��#����� ��*� 
 ������
 f = g
���� &� ����� μ�

� ����
� 	������ 
��� μ 8 ������� �� 
������ (x, n1, n2) ��� n1, n2 ≥ 0 ��
0 ≤ x ≤ n1 + n2� ����� �������� ���� �! ρ 
���
��(�� 	 ��� � q� 9�:� � ��������
����
���� t ����� 
���
���' ���� �� ρ� �� ��� 	��� n1, n2 ≥ 0 �� 0 ≤ x ≤ n1 + n2


�' 	�����	�����

f(x, n1, n2, t) = f(x, n1, n2, q).

)��  (�
�  � ��	����( #��� �
����	��� ���� ���� G(n1, n2) > 0� 7�� ����� �#$
��"�	 n1 �� n2 ! ! 
���� ���������� ��������
 ����
%

g(x, n1, n2, t) = g(x, n1, n2, q). .46

)�� ��	������ 1����
� 0 ��
 �����#���(�� ���� ��
��

���� �� ����� N11 = N12 ���� '��� %
����	 ρ ���	
� ���
� �����
�
 ��*� �

������ (q1, q2) �� (q2, q1)�

���� �� ����� Pq (N11 = N12) < 1 ���� '��� %
����	 ρ ���	
� ���
� �����
�
 �

 ����� ����� (q1, q2)�



��� �� ���	
��

��������� ���	�
� �
 ���� N11 = N12 ����� 	� 
��
���� Θ = {(q1, q2) ∈ [0, 1]2 | q1 ≤
q2}� �� ����� � ������� ρ(t) ������� �
��� �������� 
 	����� (q1, q2) 	� (q2, q1)� �
�����
� q1 ≤ q2� 	� ������� ������! ρ(t) �� ���" �� Θ �� � # � ��$�
��� q�

���� " Pq (N11 = N12) < 1� 	� 
��
���� Θ = [0, 1]2� �� ����� % ������� ρ(t)
������� �
��� �������� 
 �� ��# 	���� q�

&	"�� ���
 '() 	� '�) *
�$�"���� ( 
 �����	
��� &��
 ���� �� ������! f(s, t)
� � ��$����#�
�� � �� t ��� 
��� s� + ��$ �	�
��� ��$�
���	
 x lnx > −1� �	$ ,
�����-∑

s

ln
fΘ(s)
f(s, q)

f(s, q) =
∑

s

ln
supt∈Θ g(s, t)

g(s, q)
f(s, q) ≤ −

∑
s

f(s, q) ln g(s, q)

= −
∑

n1,n2≥0

G(n1, n2)
n1+n2∑
x=0

g(s, q) ln g(s, q) ≤
∑

n1,n2≥0

G(n1, n2)n = EqN1.

&	"�� 
 �����	
�� 
�� ���
 *
�$�"���� (� � ������ ���� ���
��! 
�$�������	�
� �	$��� ���� �	��	���� �

.� ����������	
 	���
�
	���


������� �� ����� ������ �	�� 
���� ���������� �	���� 
�
��� EqN
2
1 < ∞� �

��	�����  ������� q ∈ (0, 1)2
 ���� 
��
� ���� �������!

'() "� 
�	� �#���� ����������� � ���� �	���� N11 = N12 

�
 $�%� q1 < q2� ��

�&���� 
����
�#���' ��	��������� q̂∗ � ���
�������� ��	
�#����


'�) ( �	���  	� ��
� 	� 
�	�
� �#���� Pq (N11 �= N12) > 0
 $�%� q1 �= q2 ���

�� ����� ���#� C > 0 ������� %� N11 = CN12 

�
� �� �&���� 
����� 
�)

���
�#���' ��	��������� q̂ � ���
�������� ��	
�#����


/�� ��
������ 
 ��$ �	���� ���	�0�� 	
�$�"����-

�	��
����
 � '1(� *��$��� (2�23)� ����� �������� �������� �
���!

'() *�	�
��	���� 
������ Θ ��
�������

'�) +���&�� l(s, t) ����� ����	�	��� ��,�	��&�������  � t�

sup
t∈Θ

∣∣∣l′′titj
(s, t)

∣∣∣ < γ(s), i, j = 1, 2, Eqγ(S1) < ∞.

'%) -���� 
��	�&� I = Eq
∂2

∂t2 l(S1, q)� det I �= 0

'2) "������� Eq

∂
∂t l(S1, t) = 0 
�� ������ 	� �.� �� t = q


���� �&���� 
����
�#���' ��	��������� q̂ � ���
�������� ��	
�#����!√
K(q̂K − q) → N (0, I−1).

��������� ���	�
� /
 +��
���� 0�$���	$ ��� ���" �� Θ 	��� �� 
 ��
������ *�,
�$�� (� *��� ������ ���� ���
��! 
�$�������	� � ���� �	��	���� 	��� ���
 *
�$,
�"���� � ���	�	�
� 0�$�
�$ 	 
 ������� ����� ��	 ����� �������� q�

+ ��4��� 
 0���� ������� l(s, t) � �
��� ��0�$�$
�� � ��$����#�
����� ����,
������ ��
��
�� ε > 0 	���� �� q ∈ (ε, 1 − ε)2� 5���"��� 
 ������� ���
 '�)
*
�$�"���� � ��� t ∈ [ε, 1− ε]2� ��0 4����

l′′titj
(s, t) =

f ′′titj
(s, t)

f(s, t)
− f ′ti

(s, t)
f(s, t)

f ′tj
(s, t)

f(s, t)
=

g′′titj
(s, t)

g(s, t)
− f ′ti

(s, t)
g(s, t)

f ′tj
(s, t)

g(s, t)
.

&��� �� ���	� 
 0$�
�# ���	 ��-∣∣∣∣g′t1(s, t)g(s, t)

∣∣∣∣ ≤
∑x

k=0

∣∣∣ k
t1
− n1−k

1−t1

∣∣∣Ck
n1

tk1(1 − t1)n1−kCx−k
n2

tx−k
2 (1 − t2)n2−x+k 1{x−n2≤k≤n1}∑x

k=0 Ck
n1

tk1(1 − t1)n1−kCx−k
n2 tx−k

2 (1 − t2)n2−x+k 1{x−n2≤k≤n1}

≤ 2n

ε
.



���������� 	 
���
� �	
��� ���

���������� 	�
�� ���
	��
 �������� �����������∣∣∣∣g′t2(s, t)g(s, t)

∣∣∣∣ ≤ 2n

ε
,

∣∣∣∣∣g
′′
titj

(s, t)
g(s, t)

∣∣∣∣∣ ≤ 4n2

ε2
, i, j = 1, 2.

��
�� 	��	�� ∣∣∣l′′titj
(s, t)

∣∣∣ ≤ 4n2

ε2
+

2n

ε

2n

ε
=

8n2

ε2
.

�� ������������ ������� 	�	���� ��� ������ ����
 �
��
��� �
������� �	��
 ����

 �!�����	� 	���
"# I = Eq
∂2

∂t2 l(S1, q)� $���
�	�� %� � �	���& �����	
 ���� �
���
���
���#�  �!�
'�	� ���	��� (i, j) 	���
"� I�

Iij = Eq

[
f ′′titj

(S1, q)

f(S1, q)
− f ′ti

(S1, q)f ′tj
(S1, q)

f2(S1, q)

]
=

∑
s

[
f ′′titj

(s, q)− f ′ti
(s, q)f ′tj

(s, q)

f(s, q)

]

=
∂2

∂ti∂tj

∑
s

f(s, q)−
∑

s

f ′ti
(s, q)f ′tj

(s, q)
f(s, q)

= −
∑

s

f ′ti
(s, q)f ′tj

(s, q)
f(s, q)

.

�(�

)
!����
� 	���
"� I ������#� I11I22 − I2
12 � !��
�
 �����*�	�
+� ��
� !� �����,

����# -�'�./�������0���� �
������0��(∑
s

g′t1(s, q)g
′
t2(s, q)

g(s, q)

)2

≤
(∑

s

g′t1(s, q)g
′
t1(s, q)

g(s, q)

)(∑
s

g′t2(s, q)g
′
t2(s, q)

g(s, q)

)
.

$�
 "0�	� �������0 ��������0�� �
'� ���
 1���"�2 ∂
∂t1

g(s, q) �� ∂
∂t2

g(s, q) ������,
"�+��� $���
�	�� %� � �	���& �����	
 "� 1���"�2 ������"�+�
	
 �� �����0�
)�!0	�	� �����0�� n1, n2 > 0 ����� %� G(n1, n2) > 0�  �!�����	� �����'���� 1��,

�"�+ ∂
∂t1

g(s, q) �� ∂
∂t2

g(s, q) ��� s′ = (0, n1, n2) �� s′′ = (n1 + n2, n1, n2)�
g′t1(s

′, q)
g′t2(s

′, q)
=
−n1(1 − q1)n1−1(1− q2)n2

−n2(1 − q1)n1(1− q2)n2−1
=

n1(1− q2)
n2(1− q1)

,

g′t1(s
′′, q)

g′t2(s
′′, q)

=
−n1q

n1−1
1 qn2

2

−n2q
n1
1 qn2−1

2

=
n1q2

n2q1

3�%� q1 �= q2� �� ��� "
& ������ 	
 �
� ���
	��	� ����'���� ������"�+��,
���� 3�%� 
 q1 = q2� �� 	�
�� ���������
��� %� 1���"�2

∂
∂t1

g(s, q) �� ∂
∂t2

g(s, q) �
������"�+�
	
 ���� � �
'� ����� ���
 ����� �
��� C > 0 ����� %� N1 = CN2 	���
 �!�����	� �������
���� s(t) = Eq

∂
∂t l(S1, t)� ) ���"� q ���� ������#� ���#�

s(q) = Eq
∂

∂t
l(S1, q) =

∑
s

f(s, q)
∂
∂tf(s, q)
f(s, q)

=
∂

∂t

∑
s

f(s, q) =
∂

∂t
1 = 0.

� ���
���
������ 	���
"� I �
��
���� %� � �����	� ����� ����
 q ��!�*�!��
�������� s(t) = 0 ��
�
+�
4�� ��������
 �	��
 �5� !��
'�	��

Covq
∂

∂t
l(S1, q) = Eq

∂

∂t
l(S1, q)

(
∂

∂t
l(S1, q)

)T

− s(q)s(q)T = −I.

��
�� ��� �	��
 6����	
 � �
����#�0��� ��	� �"���� 	����� 	���
	��0��2 ����,
�������� � ��
	����
��� ���	��0��#� �

7� ������� ��	
�	�
����

 �!�����	� �������
+ �
������ ���
 ��
�� ����� ��������0�� ! ���& ��*������ ��
����	� ! ���'��� �� ������� ������� ����� G(1, 1) = 1�
6��� 	����0 	�
� ���
 ���
���#� ����
����� ��
 ������
���� ��
%� ����	����

�	��
��
���� )��� ������� � ��	�� %� ��������0 ��� ����������0 ��������2 ���!�������
���� � ������!	� � ����
& �
�����& !���

�0 ��� ����� �� ���+ &��	���	� ��!	�%���
���� ����� �����0� ����� �� �����������+ ��� ���0��� �
 ��� 	������



��� �� ����	
�

����� ���	
���
���� �������
� ������� ���� � ������������ �����
����� �������
�� ��������� ����� ����������� �� ��
 �
��� � ������ �i����� �����
��
 �������
�
���
� � ���

! �Xi = 1 �"�� �Xi = 2 �"� �����! �Xi = 0 � ��������# $ ����� ���
����� ����� �����
�� ����� ����	����� �� ������ ������ %� �
����� ��� �"&
���
' ���������� ���� � ���� ��	����� �� ���(��� ���������� �����������
 �
� "��
���� � � ����� ' �� ������� ������������ # )������� Xij �����
�� �
���� *� ��%�
� i����� �����
��
 ��
 �
��� �������
� ���� �� j��
� ��������
 
 + � 
�(��� �������#
,��
 Xi = Xi1 + Xi2# -��� �� �� �������
��
�� Xij ������� �	�� �� �������� ��%��
Xi 
 ���������. ����������. �	� ��"����� ��
��� 
���
������� qk ����� %� ������
�
��� �������
� ���� � k����� ����������#

/��	
���� �. ������ �� ��������. ������ �������	���! �
���
�����
# 0������
�������
 ����������1

fi(t) = f(i, 1, 1, t) = g(i, 1, 1, t), i = 0, 1, 2.

,��
 �����
. �
���
�����
 �* ����� ���������� � ���������� ���	��
1

L(S, t) =
K∑

i=1

ln fXi(t) = K
2∑

l=0

νl ln fl(t),

�� νl ' �� ������� ������� l � ��"
��
 X1, . . . , XK #
2��
	��� νl �� fl(t) 
 ������
	��� ����
������� �� ������
 {0, 1, 2}� �� �� 3���. *

�������� ������
���� ��	� νl = fl(t)# /	� l = 1, 2 ������
�� �������
 �
������1

ν1 = f1(t) = t1(1− t2) + (1 − t1)t2, �4 

ν2 = f2(t) = t1t2. �5 

0�����.�� t2 � ������� �
������ �� �
�����	�.�� � ������ ������
�� ���� ����
������ �
������1

t21 − (ν1 + 2ν2)t1 + ν2 = 0.

6�� ν2 ≤ μ2/4 �� �
������ ��
 ����&���� t = μ/2±√
μ2/4− ν2� �� μ ' �� ������


�������� �� ��"
���.1

μ =
1
K

K∑
i=1

xi = ν1 + 2ν2.

,��� ������
�� �������� ��
���1

q̂∗ =

(
μ

2
−

√
μ2

4
− ν2,

μ

2
+

√
μ2

4
− ν2

)
,

0������ � ����	�� �������
 �������1

A =
{
(ν1, ν2) | 0 ≤ ν1, ν2 ≤ 1, ν1 + ν2 ≤ 1, ν2 ≤ (ν1 + 2ν2)2/4

}
,

B =
{
(ν1, ν2) | 0 ≤ ν1, ν2 ≤ 1, ν1 + ν2 ≤ 1, ν2 > (ν1 + 2ν2)2/4

}
.

0��� ��"�����
 �� 7��# *# 2��
	��� �
������ �4 8�5 ��.�� ����&���� ���
 
 �
	���
���
� ��	� (ν1, ν2) ∈ A� �� �	� ������� A ����� ��������

A =
{
(f1(t), f2(t)) | t ∈ [0, 1]2

}
. �9 

,���� ����	����� ������� (ν1, ν2) ∈ B# 6�����(��� �����
. �
���
�����
 �* ��
�����
. �
� ν1� ν2� f1(t) �� f2(t)1

L(S, t) = K [ν0(1− f1(t)− f2(t)) + ν1 ln f1(t) + ν2 ln f2(t)] .
0����������.�� �
��
��� �9 � ������ ������
���
! �����
! �
���
�����
 ����� ���

�������� ��������� �����1{
F (p1, p2) := ν0 ln(1− p1 − p2) + ν1 ln p1 + ν2 ln p2 → max,

(p1, p2) ∈ A.
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0.
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1.
0

ν2

ν 1

A

B

���� �� ������� ����	�
 �	�
��� (ν1, ν2) ��� ���� �������� �����
���

 ���������

�����	��� �� � ��!�� F (p1, p2) "  #� 
�� �� p1� p2$ %& ��
��!� �� #�� '�������
��" ��#���(

∂2F (p1, p2)
∂p1∂p2

=

⎛
⎜⎝ − ν0

(1− p1 − p2)2
− ν1

p2
1

− ν0

(1 − p1 − p2)2

− ν0

(1− p1 − p2)2
− ν0

(1− p1 − p2)2
− ν2

p2
2

⎞
⎟⎠ .

)*���
�� '	�+�, ����� ����"���,� � ��������� ����
��,� 
� �� ���
	��"� -��
�
�	*
�� �
��� "��� �� ���� " ����"��� ��'��������	���$ .�� ��� (ν1, ν2) ∈ B ���
�*�� � � ��!�& F (p1, p2) / �	 ��*�#�
�*� �� ���������,��, �	�� ������� A$ �����
'	�	����
�*�� �� / �
����& 
���� !�"& �	�� ����� "

*� (p1, p2) = (f1(s, s), f2(s, s))
��� �	���#� s ∈ [0, 1]$ )
�	� � ��!�� L(S, t) ��*�#�" *��#� ���*�� � '�� t1 = t2$
.�� �� '�������� �� ��*
 '��& ������({

G(s) = ν0 ln(1− s)2 + ν1 ln 2s(1− s) + ν2 ln s2 → max,

s ∈ [0, 1].

������� � ��!�& G(s) �������"(

G′(s) = − 2ν0

1− s
+

ν1

s
− ν1

1− s
+

2ν2

s
.

����� '	�	*�����
�*
� �� "����� ���	�	� �������� G′(s) = 0 / �	 s = μ/2$ .�� 
�!���� ���*����
��& ����#����*
�  ��'��� ν2 > μ2/4 ��" ��#��� q̂∗ = (μ/2, μ/2)$

0 .	��	�� 1 ��'����"� �� �
������ �!���� q̂∗ " ���*�*
	�
��� '�� q1 ≤ q2$ 2 0
.	��	�� 3 ��'����" �*��'
�
���� ������
��*

 '�� 0 < q1 < q2 < 1$ ��� !
�� ��
���� ��� �4� �������!�,�� ��
��!� �������"(

I =
1

q1 + q2 − 2q1q2

⎛
⎜⎜⎝

q1 + q2
2 − 2q1q2

q1 − q2
1

1

1
q2
1 + q2 − 2q1q2

q2 − q2
2

⎞
⎟⎟⎠ .

5$ �����	
�

6�*����	�� ����� �!��������  ���	�� ������'��	�
��& * ��+�$ ��/ ������ �
��*����	�� �!���� �	
�� ���*����
��& ����#����*
�$ 7��	�	�� ����, ��#��� �!����

� �*��'
�
���� ��
��!� ���*�������  ��*
����� ��'��� $
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 �����
�
�� ���
��� �� ��	����
� ������
�	 ���������	 ��	��
�
���� ���� {Xij , j = 1, . . . , Ni} � ������������
�
��
� � ������
�	 ���������	� �� 	��
� ������� �� 
� ���

{Yij = 1{Xij<x}, j = 1, . . . , Ni}
��
 ������
�!� x� "� #�� ��
�� 	��
� ����������� 	���� 	����	���
�� ����!��
�����
$���	�
� �#�
�� � �
�%�


	� &�
�#�� ��������� ��	��
�
��� � ��%#� x� '���	
%�
�	 	��
� �#�
��� �������� ��	��
�
��� ��	���� � ���� �  ���(
�� �	����
��
�
�������������� ��	��
�
����

)� ��������� ��	

��������� ��	
 �� *������ ������
����
� �� ��
 ���� n1 > 0 �� 0 ≤ x ≤ 2n1

����
�����


g(x, n1, n1, (q1, q2)) = g(x, n1, n1, (q2, q1)).

$���� 
� �� (q2, q1) ����� 	�
�	���� &�
�#�+ ρ� ������	�� �� &�
�#�
 ρ ���
!��
���!� 	�
�	�	� ���� � #�� ��%����

,��!�

�	� ������� q ∈ (0, 1)2� ��������	�� �� &�
�#�
 ρ ���
!�� ���!� 	�
�	�	�
� ��%#� t = (t1, t2)� - �	��� ��	� ��������� �� ��
�� ���� %���� n� �� G(n, n) > 0�
-�������	� �	��� ./0 �� 
� ���� (0, n, n) �� (2n, n, n)1

(1− t1)n(1− t2)n = (1− q1)n(1− q2)n,

tn1 tn2 = qn
1 qn

2 .

2 �� �����%�+%� �����
� �� ��������+%� �����1

1− t1 − t2 + t1t2 = 1− q1 − q2 + q1q2

t1t2 = q1q2.

-����� 	��	�1

t1 + t2 = q1 + q2, t1t2 = q1q2.

-� �����	�+ 3���� #
 �����	� 	�� ���� ��� ����4
��� (q1, q2) �� (q2, q1)�
'���� ���!�

�	� �������� ���� ����	��� q ������ 
� 	��� �������� [0, 1]2�

*����� 
��������� q1 = 0� '��� ���
���� ./0 ��
 
� ���� (0, n, n) �� (2n, n, n) 	���	���
��!�
�1

(1− t1)n(1− t2)n = (1 − q2)n,

tn1 tn2 = 0.

-����� �
�����	� ��� ����4
��� (0, q2) �� (q2, 0)� 5 �
��� �������� ������
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� ��������	�� �� &�
�#�
 ρ ����� ���
!�� ���!� 	�
�	�	� � ��%#�
t = (t1, t2)� ,��!�

�	� ������� q ∈ (0, 1)2�

-�����	� �	��� ./0 ��
 n1 �� n2 � �	��� �����	� �� x = 0� 1� n1 +n2−1� n1 +n21

(1 − t1)n1(1− t2)n2 = (1− q1)n1(1− q2)n2 , .60

n1t1(1 − t1)n1−1(1− t2)n2 + n2(1− t1)n1t2(1− t2)n2−1

= n1q1(1− q1)n1−1(1− q2)n2 + n2(1− q1)n1q2(1 − q2)n2−1,
.70

n1t
n1−1
1 (1− t1)tn2

2 + n2t
n1
1 tn2−1

2 (1− t2)

= n1q
n1−1
1 (1− q1)qn2

2 + n2q
n1
1 qn2−1

2 (1− q2),
.)0

tn1
1 tn2

2 = qn1
1 qn2

2 . .890



���������� 	 
���
� �	
��� ���

��������	� 
�� 
� 
��� �� 
�� 
� 
���� ����������

n1
t1

1− t1
+ n2

t2
1− t2

= n1
q1

1− q1
+ n2

q2

1− q2
,

n1
1− t1

t1
+ n2

1− t2
t2

= n1
1− q1

q1
+ n2

1− q2

q2
.

������� ���
���

�

α =
n1

n2
, pi =

1− ti
ti

, ri =
1− qi

qi
, i = 1, 2.

����� α �= 1 ��
α

p1
+

1
p2

=
α

r1
+

1
r2

,

αp1 + p2 = αr1 + r2. 
���

�����
� ��	� !� ���
�"�� �� "�#�$� ����������

α2 + α

(
p1

p2
+

p2

p1

)
+ 1 = α2 + α

(
r1

r2
+

r2

r1

)
+ 1,

�#�
p1

p2
+

p2

p1
=

r1

r2
+

r2

r1
.

%&'� r1 = r2� �� ��������� ���
�( ����)���& p1 = p2* + 
��� ��������� '�
p1 = p2 = r1* ,� �� -.
&!�� ρ ��� ���
. ���&. ��&"��.�. t = q*
/�0�( r1 �= r2* /��� &� ��&������ '� ���
�"
� p1/p2 !� ���
�

� ��� ��� &���1


�� � ��
� �����
$$�2 r1/r2 �� r2/r1* 3��. ����� p2 = p1r2/r1 �#� p2 = p1r1/r2*
��������	� 
�� 
� 
���� ����������

pα
1 p2 = rα

1 r2.

���"�����	� � !� ���
�

� �
���

� ��� p2� ��������� p1 = r1 �#� p1 = r
α−1
α+1
1 r

2
α+1
2 *

4 ���	��. �����&. ����� p2 = r2� � ���. t = q* 4 ��.5��. �����&. p2 = r
2α

α+1
1 r

1−α
α+1
2 *

��&� ���� '� !� � 0�#
�( ����)���&* ���"������ (�5� . ���	� ���
�

� 
����

αr
α−1
α+1
1 r

2
α+1
2 + r

2α
α+1
1 r

1−α
α+1
2 = αr1 + r2.

���
����� v = (r1/r2)1/(α+1)� ����� v �= 1* ��������	� �������
$ ���
�"�2 
� r2

����������

αvα−1 + v2α = αvα+1 + 1,

�#�� ��������	� 
� αvα�
vα − v−α

α
= v − v−1. 
�6�

���5��
��� -.
&!�$ F (v, α) = (vα − v−α) /α−(v−v−1)* ,�����
�� '� F (1, α) = 0*
7�� ��&�
�

� ���
�"�� F (v, α) 
��#0��
�� '�# ��� ���&�5� ��"�� w �= 1 ��&�
.��1
��"�

F ′v(w, α) =
wα + w−α − w − w−1

w
= 0.

3�&� � F ′v(w, 1) = 0* ,� �� ��� �"
.���� ��"�� β �= 1 ��&�� '�# ��&�
.����"�
���
�"�2

F ′′vα(w, β) = lnw
wβ − w−β

w
= 0.

8��� �& #������ !� 
��� ����� ���. -.
&!�� ρ ��� ���
. ���&. ��&"��.�. t = q*
3���� ���5��
��� ������&� &��� �������� q �� ��2 
� �� � &������. [0, 1]2*

/�0�(� 
����&���� q1 = 0� q2 > 0* 3��� ���
�"�� 
��� 
�� �� 
��� �����.�2 ��5����
(1− t1)n1(1 − t2)n2 = (1 − q2)n2 ,

n1t1(1− t1)n1−1(1− t2)n2 + n2(1− t1)n1t2(1− t2)n2−1 = n2q2(1− q2)n2−1.
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������ ����� t2 = q2� �����	��� �� ������� t2 = 0
�	��������� � ���	
	��
� 

�����	� ������

(1− t1)n1 = (1 − q2)n2 ,

n1t1(1− t1)n1−1 = n2q2(1− q2)n2−1. � !"

#$�� �����%���� α = n1/n2 �� ���
����� �
&�	 

������ �� �	
�	�

(1 − t1)α = 1− q2,

α
t1

1− t1
=

q2

1− q2
.

'�
���(%� q2 � �$�� 

����)� ��
������

1− (1− t1)α = αt1(1− t1)α−1.

*������	�� +&��,
( F (t1, α) = (1− t1)α + αt1(1− t1)α−1� -����� F (0, α) = 1� � ..
���
��� �� t1 ��

��(�

F ′t1(v, α) = −α(1−t1)α−1+α(1−t1)α−1−α(α−1)t1(1−t1)α−2 = −α(α−1)t1(1−t1)α−2.

'��� �$	

��� ��
� ���� �
� t1 ∈ (0, 1]� ���& 

��
��) F (t1, α) = 1 �����&��)��
���	 �
� t1 = 0� � � ,)��& ������& 
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